
1.2 1.1

1.3

12

13

14

3

8

10

11

5

6

7

9

15

42

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 H-52-032-A Modus armchair back part BU15521201 1

1.1   H-52-005-T Modus armchair back legs (pair) 
Birch BU12521901 2

1.2   H-52-001-T Modus/Pan Back slat ba1534021 4

1.3   H-52-004-T Modus chair back stretcher BU12520401 1

2 H-52-011-T Modus chair w/arms front 
stretcher BU12520301 1

3 H-52-007-T Modus chair w/arms front legs 
(pair) Birch BU12520101 2

4 H-52-012-T Modus chair w/arms side 
stretchers (pair) Birch BU12520501 2

5 H-52-008-T Modus chair - corner plate 
(plywood) ba155289 1

6 H-52-009-T Modus Chair Distance Slat under 
seat ba105253 2

7 H-52-003-T Modus chair - seat plate 
(plywood) ba155201 1

8 Glide Pleksor 5272201005, Ø20, White 
Plastic ba760033 4

9 Serrated T-Nut Pleksor 2214302094, M6x9mm ba952703 4

10 Star Washer Pleksor 5067980006, M6, DIN6798, 
Zn ba950904 4

11 Pan Head Bolt M6 Pleksor 10K6S06032, M6x32mm, 
yZn ba950606 4

12 Threaded Bolt M8 Pleksor 1513320501, M8x50mm, Zn ba951104 2

13 Washer Pleksor 5084161000, M8x16x1,6, Zn, 
DIN125 ba950907 2

14 Flat head Screw 
Ø3,5 Pleksor 0112111601, 3.5x20mm, Zn ba950106 2

15 H-52-002-SK Modus Stacking chair seat 0100 
(foam) ba205201 1

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

H-52-014-A With arms

Danel

1:5 mmDanel Jaanson A3

+/-0,3 mm

2022-03-07

2022-03-25

Modus Stack chair w/arms, HB520710

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI

2022-03-09

Dimitri Leine



1.2 1.1

1.3

7

9

10

3

5

6

8

11

4

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 H-52-032-A Modus armchair back part BU15521201 1

1.1   H-52-005-T Modus armchair back legs (pair) 
Birch BU12521901 1

1.2   H-52-001-T Modus/Pan Back slat ba1534021 4

1.3   H-52-004-T Modus chair back stretcher BU12520401 1

2 H-52-033-A Modus chair front part BU15521601 1

2.1   H-52-010-T Modus chair wo/arms front 
stretcher BU12520801 1

2.2   H-52-006-T Modus chair wo/arms front legs 
(pair) BU12520701 2

3 H-52-008-T Modus chair - corner plate 
(plywood) ba155289 1

4 H-52-013-T Modus chair wo/arms side 
stretchers (pair) BU12521001 1

5 H-52-009-T Modus Chair Distance Slat under 
seat ba105253 2

6 H-52-003-T Modus chair - seat plate 
(plywood) ba155201 1

7 Glide Pleksor 5272201005, Ø20, White 
Plastic ba760033 4

8 Serrated T-Nut Pleksor 2214302094, M6x9mm ba952703 4

9 Star Washer Pleksor 5067980006, M6, DIN6798, 
Zn ba950904 4

10 Pan Head Bolt M6 Pleksor 10K6S06032, M6x32mm, 
yZn ba950606 4

11 H-52-002-SK Modus Stacking chair seat 0100 
(foam) ba205201 1

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

H-52-014-A Without arms

Danel

1:5 mmDanel Jaanson A3

+/-0,3 mm

2022-03-07

2022-03-25

Modus Stack chair wo/arms, HB52079

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI

2022-03-09

Dimitri Leine



Configuration: With Bookholder - Row connectors

4

3 1

2

A

Configuration: With Wheels

1

DETAIL A

SCALE 1 : 3

2

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 H-52-028-S Bookshelf for Modus chair 
(Chrome) ba305201 1

2 H-9040-005-S Row connector HM730 (pair) ba305200 1

3 H-9040-006-S Row connector HM730 (pair) ba305200 1

4 Locking washer Locking washer for Modus row 
connectors ba950912 12

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 Glide Pleksor 5272201005, Ø20, White 
Plastic ba760033 2

2 Glidehjul 
2198UAO050P75 art nr. 2198.30575, Wheel set ba910004 2

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

H-52-014-A

Danel

1:6 mmDanel Jaanson A3

+/-0,3 mm

2022-03-07

2022-03-25

Modus chair additional configurations

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI

2022-03-09

Dimitri Leine



B

1.1

1.3

10

11

12

3

18 42

1.2

9

5

19

8

7

DETAIL B

SCALE 1 : 3

17 6 16

13 14 15

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 H-52-032-A Modus Bariatric (XL) armchair back part 
Birch BU15521801 1

1.1   H-52-005-T Modus armchair back legs (pair) Birch BU12521901 2

1.2   H-52-001-T-XL Modus bariatric (XL) chair back slats Birch 
(4 pcs=1 set) BU12521301 4

1.3   H-52-004-T Modus bariatric (XL) chair back stretcher BU12521201 1

2 H-52-011-T Modus bariatric (XL) chair front stretcher BU12521101 1

3 H-52-007-T Modus chair w/arms front legs (pair) Birch BU12520101 2

4 H-52-012-T Modus chair w/arms side stretchers (pair) 
Birch BU12520501 2

5 BO Spisestuestol XL 
Seteplate

BO/MODUS/DUUN Bariatri chair - seat 
plate ba155796 1

6 H-52-031-T Modus Bariatric (XL) ArmChair upper 
middle slat (plywood) ba105250 1

7 H-68-017-T Pan/Nell chair support block ba156840 4

8 Flat head Screw Ø4,0 Pleksor 0112112502, 4.0x40mm, Partial 
Thread, Zn ba950117 8

9 Serrated T-Nut Pleksor 2214302094, M6x9mm ba952703 1

10 Threaded Bolt M8 Pleksor 1513320501, M8x50mm, Zn ba951104 2

11 Washer Pleksor 5084161000, M8x16x1,6, Zn, DIN125 ba950907 2

12 Flat head Screw Ø3,5 Pleksor 0112111601, 3.5x20mm, Zn ba950106 2

13 Spacer Glide for BO chair seat (KUTS1515V) 
BA760044 ba760044 1

14 Pan Head Screw Ø4,0 Pleksor 0212121901, 4.0x16mm, Zn ba950203 1

15 Butterfly Bolt SR4022M625S, M6x25mm ba760084 1

16 Washer Øvrebust Plast no.044 ba760052 1

17 Flat head Screw Ø3,5 Pleksor 220035250, ABC-SPAX, 3.5x25mm, 
Zn - 4

18 Glide Pleksor 5272201005, Ø20, White Plastic ba760033 4

19 BO Spisestuestol XL 
SeteSKUM Bo Bariatri chair-seat foam(45/39) ba203411 1

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

H-52-014-A XL

Danel

1:6 mmDanel Jaanson A3

+/-0,3 mm

2022-03-07

2022-03-25

Modus bariatric chair w/arms, HB52080

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI

2022-03-09

Dimitri Leine


	W/Arms
	Drawing View1
	Drawing View2

	Wo/Arms
	Drawing View3
	Drawing View4

	Additional configurations
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Detail View A (1 : 3)

	Bariatri (XL)
	Drawing View10
	Drawing View11
	Detail View B (1 : 3)


